

















(b) Name the process by which potassium ions is taken by the roots. Give reason for your

answer (4mks)

(c) Account for sugar loss and potassium ions gain.

(i) 0% oxygen concentration (2mks)

N Between S%and 20% OXygenconcem ratl On ..................................... (2mks ) .

(@) Sugaest two fctorsnecessary for the abov process apar o oxygen (k)
() Stat two ways by which the process sbove cafbesopped (amks)
() Name two main arcas ina mammalin body wher the above process occurs. (2mks)

7. Determine how the differentiated structures in the mammalian skin are adapted to the
functions. (20mks)
8. State and explain how various hormones regulate growth and development of plants.
(20mks)








